RMI PRO SERIES

RMI 32 PRO

Packing list
1. Bottom Tray - 1pcs

8. Rear Door - 1pcs
2, Top Tray - 1pcs

9. Platen Panel -

3. Frame - 2pcs 3pcs(for over 42U-hight)

4. Horizontal Support - - 2pes(from 32U-high to 42U -hight)
4pcs(for under 32U-hight) 1pcs(for under 32U-hight )
6pcs(for over 32U-hight) 10. Fan Tray - 1pcs

5. Vertical Support - 4pcs 11. Cover Panel - 3pcs

6. Side Door - 2pcs
7. Front Door - 1pcs

Accessories Package list

M12*L90 Supporting Leg- 4pcs
Castor- 4pcs

Side Panel - 4pcs

M8*12 hexagon socket screw - 16pcs
M8 flange nut - 16PCS

M6*12 Screw -

60pcs(for over 42U-high)

56pcs(from 32U-high to 42U -hight)
36pcs(for under 32U-hight )

4mm Plastic Washer - 2pcs

8. M4*12 Self-tapping Screw - 18pcs
9. M6*12 Self-topping Screw - 16pcs16pcs
10. M6 Cage Nut -
60pcs(for over 42U-hight)
56pcs(from 32U-high to 42U -hight)
36pcs(for under 32U-hight )
11. M6 Plastic Washer -
60pcs(for over 42U-hight)
56pcs(from 32U-high to 42U -hight)
36pcs(for under 32U-hight)

Step1l:

Use 16pcs of M8*12 hexagon
socket screws and 16pcs of M8
flange nuts to assemble the top
tray,bottom tray and frame .

Refer to the left picture.

Step2:

Use 6pcs of M4*8 self-topping
screws to assemble the top
cover.Use 8pce of M4*8 self-
tapping screws to assemble the
side panels.

Refer to the left picture.

Step3:

Use 4pcs of M4*8 self-tapping
screws to assemble the fan
tray.

Refer to the left picture.

Step4:

Use 24pcs of M6*12 screws,M6
cage nuts and M6 plastic
washers to assemble the
horizontal supports.

Refer to the left picture.

Step5:

Use 24pcs of M6*12 screws,M6
cage nuts and M6 plastic
washers to assemble the
vertical supports.

Refer to the left picture.

Step6:

Use 12pcs of M6*12 screws,M6
cage nuts and M6 plastic
washers to assemble the shelf.

Refer to the left picture.

Step7:

Use 16pcs of M6*12 self-tapping
screws to assemble the
castors.And assemble the
M12*L90 supporting leg.

Refer to the left picture.

Step8:
Assemble the two side doors.

Refer to the left picture.

Step9:

Use 4mm plastic washers to
assemeble the front door and
rear door.

Refer to the left picture.




RMI PRO SERIES

RMI 32 PRO

Listado Piezas en el pack

1- Tapa Inferior- 1 pcs

2- Tapa Superior - 1pcs

3- Marco principal - 2 pcs

4- Soporte Horizontal - 4pcs
{menos de 32 U)

6 pcs (para mas de 32U)
5- Soporte Vertical - 4 pcs
6- Puerta lateral - 2 pcs
7- Puerta Principal - 1pcs

8- Puerta Trasera- 1 pcs

9- Tapa Superior:
3pcs {(para una altura de 42U)
2pcs (de 32U de altura hasta 42U)
1pcs (menos de 32U)

10- Tapa de ventilacién - 1 pcs

11- Cubierta- 3 pcs

Listado de accesorios en el pack

1- M12*L90 Pata - 4pcs

2- Rueda - 4pcs

3- Panel Lateral - 4pcs

4- M8*12 tornillos allen - 16 pcs

5- M8 tuerca - 16 pcs

6- M6*12 Tornillos
60 pcs (para 42U de altura)
56 pcs{de 32U de altura hasta 42U)
36 pcs {(menos de 32U)

7. Arandelas de plastico de 4mm - 2pcs

8- M4*12 Tapa cubertora tornillo - 18 pcs
9- M6*12 Tapa cubertora tornillo - 16pcs
10- M6 Tuercas

60pcs (para 42U)

56pcs (para 32U a 42V)

36pcs (para menos de 32U)
11- Arandela de plastico M6

60pcs {42U)

56pcs(32U a 42U)

36 pcs (por debajo de 32U)

Paso 1:

Utilice los 16 tornillos tipo Allen
M8*12 y 16 pcs del M8 utilizando
las arandelas para fijar la tapa (Y
inferior, interior y el chasis en
general.

Véase en la imagen

Paso 2:
Utilice 6 pcs del tornillo M4*8 .
para montar la tapa superior. .

Utilice 8 pcs del tornillo M4*8
para montar los paneles latera-
les.

Véase en la imagen

Paso 3:

Utilice 4 pcs del tornillo M4*8
para montar el sistema de ven-
tilacion sobre la tapa.

Véase en la imagen

Paso 4:

Utilice 24 pcs del tornillo M6 *12
junto con los tornillos y las
arandelas M6 para ensamblar
correctamente los soportes ver-
ticales.

Véase en la imagen

Paso 5:

Utilice 24 pcs del tornillo M6 *12
junto conl os tornillos y las
arandelas M6 para ensamblar
correctamente los soportes ver-
ticales.

Véase en la imagen

Paso 6:

Utilice 12 pcs del tornillo M6 *12
junto con los tornillos y las
arandelas M6 para ensamblar
correctamente los soportes ver-
ticales.

Véase en la imagen

Paso 7:

Utilice 16pcs del tornillo M6 *12
junto con los tornillos para m
montar las ruedas, ademas de
ensamblar las patas con los
tornillos M12*L90

Véase en la imagen

| Paso 8:

Ensamble las dos puertas natu-
rales.

Véase en la imagen

Paso 9:

~ Utilice las arandelas de plastico
de 4 mm para montar la puerta
frontal y trasera.

Véase en la imagen




